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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. TRl §augH STUH U9 U9 W Ak 37 qardd: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. Wt U & HH AAH |

All the questions are compulsory.
3. TS U I IR &l TE SW-YRAH 7 & G |

Write the answer to each question in the given answer-book only.
4. S U H I IE GUS €, 3 T I TF T & A |

For questions having more than one part the answers to those parts
are to be written together in continuity.

5. WA UTH Bl F UST TURR H HAl YR P I / R/ SRENTH g
W ERT T % U9 B Fel A |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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6. WY EEAT 3% UA® T

1-13 1

14-24 2
25-27 3
28-30 4

Q. Nos. Marks per question

1-13 1

14-24 2
25-27 3
28-30 4

7. W H% 21, 27, 28, 29 I 30 H A IF IHeT ¢ |

Question Nos. 21, 27, 28, 29 and 30 have internal choices.

1. AT Tt AT AT shid &l YA T QU |

Write the formula to calculate the molality. 1

2. T RIS 1 SI AFE o @ |

Write the SI unit of Resistivity. 1

3. Mg2t g 1™ Al i JieR =etshdl SEE: 106:0 s.cm 2 .mol ~L

TN 76:3 s.cm?.mol "L &1 MgCly I TN HieR Dlefshdl I0d I 5T |
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Limiting molar conductivities of Mg2+ and Cl~ ions are

106:0 s.cm?.mol™! and 763 s.cm?.mol™} respectively. Calculate

1

5+

N|—

the limiting molar conductivity of MgCl,.

4. Ba(N3),® MU 99T & F1 TA § ? ( HA ST THAT H FHGH

[SREILD)

What happens on thermal decomposition of Ba(N3)y ? ( write only

equation of the reaction ) 1

5. CyHg—N— CH,~CH;~ CHj CHy 1 IUPAC ¥ WY
CyHy

Write IUPAC name of C2H5—1|\T— CH,—CH;—CH;~ CHg . 1
CoHs

6.  [Cr(Hp0)4Bry |Cl % 3T THE=E! &l T T @T|
Write the formula of ionisation isomer of [Cr(H5O)4Bro |CI. 1

7. URR CIAEEEH- e (I11) STNeHsIsh I T T g A T |

Write the formula of coordination compound  mercury

tetrathiocyanato-cobaltate (III). 1
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8. I BIAT €, g o 5 SRS 799 FORES i A Y HI U IIH AErEE 9

FE S € 2 (haeT 31 A HAT BT THHT o EU)

What happens when benzene diazonium chloride reacts with

potassium iodide ? ( write only equation of the reaction ) 1

9. THIMET F TohHIhd (6 Uh YA Sgeish il &
Explain that vulcanised rubber is an elastomer. 1

10. Gl FA9HAT o oW o7 RNIF I s Ghve L T T HHAT B SIS T4
g ?

For a reaction the unit of rate constant is sec _1. What will be the

order of reaction ? 1

11. 3T9HA 2A+ B — 3R &q STahel a7 GHIHUT & GU|

Write differential rate equation for the reaction, 2A + B—— product.

12. H3POj Wl &TRehaT T & ?

What is the basicity of H3PO3 ? 1
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13. SIS 3T, 4-H I6T SiIgeh 3T Ud 4-ATeZleiigsh 3Tt i 3T qrae

% 9gd Y § FARd I 5T |

Arrange benzoic acid, 4-methyl benzoic acid and 4-nitrobenzoic acid in

increasing order of their acidic strength. 1

14, XY TS 9o i IR0 9 & FHERT |
Explain calcination and roasting with example. 1+1=2

15. WM % TchioT i U IR0 T & THEN |

Explain denaturation of protein with an example. 1+1=2

16. 400 K TYFH T &l Ford= Sl WRRT & 0-0821 AIHSH & df Fotd= i

e Hiel/eleX | W HISTI [ R = 0-0821 L atm K~ 1mol ™! |

Osmotic pressure of a solution is 0:0821 atm at a temperature of

400 K. Calculate the concentration of solution in mol/litre.

[R=00821Latm K Tmol™!

N —
N|—
]
N

17. (31) RIS & YA UHA F FAT A9 B AGU|

(F) FF BN ToFIS T A =T TR
(@)  Write Faraday's second law of electrolysis.

(b) Draw labelled diagram of standard Hydrogen electrode. 1 + 1 =2
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18. SETAET 3T 9 HAT I 0T Y THH! AT T & FHART ¢

(CHz)3CBr+OH ™ (Sedl) ——
Complete the following reaction and explain its mechanism :
(CH3)3CBr+OH™ (aq) ——>

1+ =2

N~

1
2

19. A TAET AT Pl I dgd gU ARG AT H FERIT F HRUT WL
Eﬁ[\—rnq;

C,HsNH,, NH;, CH:NH,

Arrange the following compounds in increasing order of their basic

strength. Explain reason :

C,HsNH,, NH,, CgHsNH, 1+1=2

20. INTCHS T FEAT TEeTRIhIUT H i I SR A U

Write any two differences between addition and condensation

polymerisation. 1+1=2

21. (31) AR % 3UE A NaOH o= & 37 9 56T hl THIUT o G |
(F) HzPO, ! TTAH Uh o I THEMET |

AT
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(31) IR &l TR 9 K NaOH TotaH T 37 T 5T i THIHUT AT @ |

(@) PClg Ul o THed T Tal & ? THAE |

(@) Write an equation of the reaction of chlorine with cold and

dilute NaOH solution.

(b) Explain the reducing nature of H3PO, . 1+1=2
OR
(@) Write an equation of reaction of chlorine with hot and

concentrated NaOH solution.

(b) Why are all the five bonds of PCl5 not equivalent ? Explain.

1+1=2

22. TH HIT FAHAT I YUY FA 10 sec €, Al Tk o [@RH H TOFT

I T |

Half life period for first order reaction is 10 sec. Calculate the rate

constant for the reaction. % + 1% =2
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23. GASTHAT 99 T ® YR W GHSET F [Ni(CN)4]2‘ TH = TR

GheA 3T €

Explain on the basis of valence bond theory that [Ni(CN )4] 2= is a low

spin complex ion. 2

24, TAAEGT THE AH 3T T FHATS I GO H1 T :

Cl+CH,—Cl
@ (o)

(¥  CHy-CH,-Cl+KCN—2—

1o AICL,

(¥ CH3-CH=CH,+HI——

(8)  CHy-CH, - OH+NaBr+H,SO, ——>

Complete the following chemical reactions :

o @

(b)  CHy-CH,-Cl+KCN—4

anhydrous AlCl;

()  CHz-CH=CH,+Hl——

N~
]
N
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25. (31) WSHIUN FHEES oF & eI HIUT & A A @I

() FART H IR FATHHT A W HT THR Hl FAY=0lh T

BT E 2 TSR |
(@) Write the values of axial angles for hexagonal crystal system.

(b) Which type of semiconductor is obtained by doping boron with

silicon ? Explain. 1+2=3
26. (31 TUHES AT Y Fed € 2
() SRR A TH HY Fed & 2 Th I & S

(@ M2V (Sl AEE (Z = 29 ) % AQ Tkl T YR 0T Y

T Y ST
(@)  What is Lanthanoid contraction ?

(b)  What are Interstitial compounds ? Give an example.

() Calculate the 'Spin only' magnetic moment of M2+( aq ) ion

(Z=29). 1+1+1=3
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27. (31) EUH NERRT Y Fed & ? Uh TR ATU|

(F) 3vS Ug TS W TSR H & F AT WK TWCH H U F - HAT

SATE ?

(F) YR I IMEART F HiE TH R A @Y

(31) RO SUHTR FY Fed & 2 TH IR0 A G|

() T uEE § WEE b T S § 2 HiE & BRI o @)
(W) I%d TWFH J Ghivl WIH T qSE] H HiE Uh R o G|
(@)  What are non-narcotic analgesics ? Write an example.

(b) Why is artificial sweetening agent, Aspartame used only in soft

drinks and cold foods ?

(c) Write any one difference between antiseptics and disinfectants.
% + % +1+1=3
OR
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(@) What is anionic detergent ? Write an example.
(b) Why are chemicals added to food ? Write any two reasons.
(c) Write any one difference between broad spectrum and narrow
spectrum antibiotics. % + % +1+1=3

28. (31) T=SEH 3SR ¥ TEd & ? Uk ISR QU]

(F) T HY YHR H TARM & ? TR |

(9) o GOeH &AM Hd oF T ed THEIRE |
AYAr

(31) ISR I SUMHEAT FHH Fad & ? IR T QU |

(F) TS T SRS Td 3T 999 qohes Al Hl 7 4d A W
ERIRGIR A

(F) =t T9E i AH o FEd GHEEC |

(@) What is enzyme catalysis ? Write an example.

(b) Which type of emulsion is milk ? Explain.

(c) Explain Electrophoresis with labelled diagram.

+=+1+1+1=4

1,1
2 2

OR
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(@) What is selectivity of catalyst ? Write example.

(b) What happens when hydrated ferric oxide sol is mixed with

arsenius sulphide sol ?

(c) Explain Tyndall effect with labelled diagram.

+=+1+1+1=4

1,1
2 2
29. (31) IIAET A TR & [UPAC 91H T ET :

() CH,=CH-CH,-OH

i) QHz = CH™CHz
OH OH OH

(@ AEAET TEEAH 3T T FHAN &F THEHOT A G
()  HMT F CS, H UARTT F SHA F W
(i) TR B Cu Pl URIT H 573 K A0 W TRY A W |
rerar

(31) AT @A IR & [UPAC 90 AT :

() CHyO—CH—CHy
CH,

(i) CHz (I:H —CH; OH
CH,
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(@ FHAAET TEETH 37 TFHAS F TR G
() T H W HNO 3% a1
(i) T i IJIE T o G |
(@) Write [UPAC names of the following compounds :
(i) CH, = CH- CH, - OH
(i) CHgo — CH—CH,
(I)H (l)H (I)H
(b) Write equations of the following chemical reactions :
(i) Phenol reacts with Bry in presence of CSy
(i) Ethanol is heated at 573 K in presence of Cu.
(1+1)+(1+1)=4
OR
(@) Write IUPAC names of the following compounds :
(i) CH;—O— CH—CHg3
cH,
(i) CHz~CH—CH; OH
cH,
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(b) Write equations of the following chemical reactions :

(i) Phenol reacts with conc. HNO 3
(i)  Phenol reacts with zinc dust. (1+1)+(1+1)=4

30. (31) USHHUS =RH W WU T E@U|

(@) TEARUHTH 3TA, FARNUHIZH A I qorl H T gF A ¢ |
i ?
(F) FEIHeE 3T i SFART T SR |

AT

(37) TIeH- FIR UTIT W I A LTI

() FEMGH AR A oh FALAH ORI FHM STHR aTel Ufeeergel adr
HISH & 3T & &, F 2
(W) TS A Sl AT WA § I a6l 53 Sl WaHT TR0 |

(@)  Write a note on Rosenmund reduction.

(b) Why is fluoroacetic acid more acidic than chloroacetic acid ?

(c) Draw the resonating structures of carboxylate ion.
2+1+1=4
OR
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(@)  Write a note on Wolff-Kishner reduction.
(b) Boiling point of carboxylic acids are higher than aldehydes and
ketones of comparable molecular masses. Why ?

() Draw the dimer structure of ethanoic acid in vapour state.

2+1+1=4
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